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Abstract

A Study on Calculating Taxable Income for Corporation Tax for Construction
Firms in Korea

Some people in construction industry argue that it would be better to calculate
taxable income as a certain percentage of revenue for construction corporation tax
because it is very difficult for construction corporation to verify the cost related to
construction site.

The purpose of this study is to examine the appropriateness of such argument. If
such argument were appropriate, then we would search for the specific method of
calculating taxable income as a percentage of revenue. If it were inappropriate, we
would search for alternative method.

We found that it is inappropriate to calculate taxable income as a certain
percentage of revenue for construction corporation tax for theoretic and realistic
reasons. From the theoretic point of view, if taxable income were calculated as a
certain percentage of revenue, then it is no longer corporation income tax. From the
realistic point of view, if taxable income were calculated as a certain percentage of
revenue, the construction firms of heavier tax burden would object the such method.
The survey shows that 40.7% of the respondent objected such method, while 42.4%
of the respondent approved.

Therefore, we propose that tax authority should accept the minimum level of labor
cost related to construction site even if the construction firms could not verify the
labor cost related to construction site, because the construction firms usually employ
abnormal worker(e. g., illegal foreign worker) so that construction firms were very

difficult to verify such labor cost.
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